REMIC Securities						
Type of Information Collection	(Prepared By)	No. of Participants/ Respondents	Frequency per Rspndnt	Total Annual Responses	Est. Average Hrly Burden	Est. Annual Burden Hrs
Pricing Letter	Sponsor	18	10	180	0.5	90
Structured Term Sheet	Sponsor	18	10	180	3	540
Trust (REMIC) Agreement	Attorney for Sponsor	18	10	180	1	180
Trust Opinion	Attorney for Sponsor	18	10	180	4	720
MX Trust Agreement	Attorney for Sponsor	18	10	180	0.16	28.8
MX Trust Opinion	Attorney for Sponsor	18	10	180	4	720
RR Certificate	Attorney for Sponsor	18	10	180	0.08	14.4
Sponsor Agreement	Attorney for Sponsor	18	10	180	0.05	9
Table of Contents	Attorney for Sponsor	18	10	180	0.33	59.4
Issuance Statement	Attorney for Sponsor	18	10	180	0.5	90
Tax Opinion	Attorney for Sponsor	18	10	180	4	720
Transfer Affidavit	Attorney for Sponsor	18	10	180	0.08	14.4
Supplemental Statement	Attorney for Sponsor	18	10	180	1	180
Final Data Statements (attached to closing letter)	Attorney for Sponsor	18	10	180	32	5760
Accountants' Closing Letter	Accountant	18	10	180	8	1440
Accountants' OSC Letter	Accountant	18	10	180	8	1440
Structuring Data	Accountant	18	10	180	8	1440
Financial Statements	Accountant	18	10	160	1	160
Principal and Interest Factor File Specifications	Trustee	18	10	180	16	2880
Distribution Dates and Statement	Trustee	18	10	180	0.42	75.6
Term Sheet	Trustee	18	10	180	2	360
New Issue File Layout	Trustee	18	10	180	4	720
Flow of Funds	Attorney for Trustee	18	10	180	0.16	28.8
Trustee Receipt	Trustee Attorney	18	10	180	2	360
Data Verification Form	Trustee	18	10	180	0.08	14.4
Total				180		18044.8
Platinum Securities						
riaunum Securities		NT C				
Type of Information Collection	(Prepared By)	No. of Participants/ Respondents	Frequency Per Rspndnt	Total Annual Responses	Est. Average Hrly Burden	Est. Annual Burden Hrs
Deposit Agreement	Depositor	18	10	180	1	180
MBS Schedule	Depositor	18	10	180	0.16	28.8

New Issue File Layout	Depositor	18	10	180	4	720
Principal and Interest Factor File Specifications						
	Trustee	18	10	180	16	2880
Data Verification Form	Trustee	18	10	180	0.08	14.4
Total		18		180		3823.2
Total Burden Hours						21868
Calculation of Burden Ho	urs:					
Participants x Frequency pe	r Year  = Est. Annual Fre	quency				
Est. Annual Frequency x Es	t. Average Completion T	me = Est. Annual	Burden Hours			

## Attachment B - Page 1

REMIC Securities						
Type of Information Collection	(Prepared By)	No. of Potential Sponsors	Estimated Annual Frequency per Respondant	Total Annual Responses	Est. Average Hrly Burden	Est. Annual Burden Hrs
Pricing Letter	Sponsor	15	8	120	0.5	60
Structured Term Sheet	Sponsor	15	8	120	3	360
Trust (REMIC) Agreement	Attorney for Sponsor	15	8	120	1	120
Trust Opinion	Attorney for Sponsor	15	8	120	4	480
MX Trust Agreement	Attorney for Sponsor	15	8	120	0.16	19.2
MX Trust Opinion	Attorney for Sponsor	15	8	120	4	480
RR Certificate	Attorney for Sponsor	15	8	120	0.08	9.6
Sponsor Agreement	Attorney for Sponsor	15	8	120	0.05	6
Table of Contents	Attorney for Sponsor	15	8	120	0.33	39.6
Issuance Statement	Attorney for Sponsor	15	8	120	0.5	60
Tax Opinion	Attorney for Sponsor	15	8	120	4	480
Transfer Affidavit	Attorney for Sponsor	15	8	120	0.08	9.6
Supplemental Statement	Attorney for Sponsor	15	0.25	3.75	1	3.75
Final Data Statements (attached to closing letter)	Attorney for Sponsor	15	8	120	32	3840
Accountants' Closing Letter	Accountant	15	8	120	8	960
Accountants' OSC Letter	Accountant	15	8	120	8	960
Structuring Data	Accountant	15	8	120	8	960
Financial Statements Principal and Interest Factor File Specifications	Accountant	15	8	120	1	120
	Trustee	15	8	120	16	1920
Distribution Dates and Statement	Trustee	15	8	120	0.42	50.4
Term Sheet	Sponsor	15	8	120	2	240
New Issue File Layout	Trustee	15	8	120	4	480
Flow of Funds	Attorney for Trustee	15	8	120	0.16	19.2
Trustee Receipt	Trustee Attorney	15	8	120	2	240
Total				2763.75		11917.35

SMBS Securities						
Type of Information Collection	(Prepared By)	No. of Potential Sponsors	Estimated Annual Frequency per Respondant	Total Annual Responses	Est. Average Hrly Burden	Est. Annual Burden Hrs
Pricing Letter	Sponsor	10	1	10	0.5	5
Structured Term Sheet	Sponsor	10	1	10	3	30
Trust (REMIC) Agreement	Attorney for Sponsor	10	1	10	1	10
Trust Opinion	Attorney for Sponsor	10	1	10	4	40
MX Trust Agreement	Attorney for Sponsor	10	1	10	0.16	1.6
MX Trust Opinion	Attorney for Sponsor	10	1	10	4	40
RR Certificate	Attorney for Sponsor	10	1	10	0.08	0.8
Sponsor Agreement	Attorney for Sponsor	10	1	10	0.05	0.5
Table of Contents	Attorney for Sponsor	10	1	10	0.33	3.3
Issuance Statement	Attorney for Sponsor	10	1	10	0.5	5
Tax Opinion	Attorney for Sponsor	10	1	10	4	40
Transfer Affidavit	Attorney for Sponsor	10	1	10	0.08	0.8
Supplemental Statement	Attorney for Sponsor	10	0.25	2.5	1	2.5
Final Data Statements (attached to closing letter)	Attorney for Sponsor	10	1	10	32	320
Accountants' Closing Letter	Accountant	10	1	10	8	80
Accountants' OSC Letter	Accountant	10	1	10	8	80
Structuring Data	Accountant	10	1	10	8	80
Financial Statements Principal and Interest Factor File Specifications	Accountant	10	1	10	1	10
	Trustee	10	1	10	16	160
Distribution Dates and Statement	Trustee	10	1	10	0.42	4.2
Term Sheet	Sponsor	10	1	10	2	20
New Issue File Layout	Trustee	10	1	10	4	40
Flow of Funds	Attorney for Trustee	10	1	10	0.16	1.6
Trustee Receipt	Trustee Attorney	10	1	10	2	20
Total				232.5		995.3

## Attachment B - Page 3

Platinum Securities						
Type of Information Collection	(Prepared By)	No. of Potential Sponsors	Estimated Annual Frequency Per Respondant	Total Annual Responses	Est. Average Hrly Burden	Est. Annual Burden Hrs
Deposit Agreement	Depositor	19	10	190	1	190
MBS Schedule	Depositor	19	10	190	0.16	30.4
New Issue File Layout	Depositor	19	10	190	4	760
Principal and Interest Factor File Specifications						
	Trustee	19	10	190	16	3040
Total				760		4020.4
Total Burden Hours						16933.05
Calculation of Burden Ho	urs:					
Sponsors x Frequency per Y	ear = Est. Annual Frequ	ency			·	·
Est. Annual Frequency x Es	t. Average Completion T	me = Est. Annual	Burden Hours		·	